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(@ What is a fair allocation ? Is an equal distribution

fair ? Why or why not ?

(b)  Ina2 x 2 pure exchange economy the two agents A and
B have the following ordinal utility. functions :
U, = min(X A 6Y,)
—y 34y 14
Upg = X7 Yg'™
0) Given that this two person economy is endowed

with 240 units of X and 40 units of 'Y, draw the

Edgeworth Box and find the set of Pareto efficient

allocations.



3y 6019
(ii)' Agent A has an initial endowment'of 240 uﬁits of
X but no Y and B has an endowment of 40 units
of Y but no X. If competitivé.exchange takés place
bgfween A and B, find the general equilibrium price

ratio and allocation.
(ifi)  Can you tell whether thirs allocation is'f.air ?
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Supposé there is a newspaper firm plolluting the nearby
field with dyes, thereby adversely affe'ctit;g the farmer by
increasihg his cost of production. Their cost functions
are C(N) = N? + 2 and C(F) = F> + NF for the newspaper
and the farmer respectively. N is output of the newspaper

firm, F is output of the férmer. Both sell their product

-in competitive markets with P, = 5 and P, = 4.

()  Find their outputs if both maximize private profits.

(i) Find the socially efficient levels of outputs.
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(7if)  How much tax should be imposed per unit of output,

on the newspaper firm in order to induce the efficient

outcome ?

Explain with an example, the Moral Hazard problem that

arises in the Insurance Industry. 0+6
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(a)

A and B (Who consume two goods X and Y) have utility'
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In a 2 x 2 pure exchange economy, the two consumers

functions given by :
Ua(Xa, Ya) =X} + Y5
UB (XB’ YB) = X% + Yg

If the total endowments of X and Y in the economy are

400 units gach, draw the Edgeworth Box and show the

. Pareto efficient allocations of this economy in the BoX.
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(b) Fora2 x 2 pure exchange economy, the two consumers

A and B hav‘e the following utility functions :
Up(Xa, Yu) = X5+ Y2
- Up(Xp, Yp) = X§? + Yg'*

Their endowments are W, = (200, 200) and

.. W5 =(200, 200)

()  What will be the shape of the consumption centract

curve ? Show in a diagram.

(i) What will be the general equilibrium price ratio at

any competitive equilibrium ? - 7+8

(31) 2 x 2 Y5 fafa erdegeean & @ suse A sk
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Up (Xa, Yo )=X5 + Y2

Up (Xp, Yp) = X3 + Y3
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Ug (Xp, Ya) = XR2+Y5°

Ug (Xg, Yp) = X§? + Y5

zreht wfer Ffe w, = (200, 200) 3R W, = (200, 200)
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If X is a public good for two consumers A and B with

, g . | 3
demand curves Xy=18 - 3Py and X, = 15 - EPX.

What is the Pareto efficient amount of X to produce

if the marginal cost of producing X is given by
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Suppose that 15 people live on a street and cach of

them is willing to pay Rs. 4 for an extra streetlight
regardless of the number of streetlights provided. If
the cost of providing x streetlights is C(x) = x* then
what is the Pareto efficient number of streetlights to

provide ?
Briefly explain the free rider problem. 555
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(@) The market demand curve for X is the constant price
elasticitﬁ' demand curve Q = P2 X can be produced at

a constant average and marginal cost AC = MC = C.
(/)  What will be the competitive price of X ?
(i)~ What will be the monopoly price ?

(7if) ~ What part of competitive consumers surplus gets-

transferred to monopoly profits ?

(v)  What fraction of consumer’s surplus under perfect
competition is.lost altogether if the market is served

. by a monopoly with the same costs ?
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(1)
(b)) A monopolist serves two consumers with demand
functions given by :
Q, = 10 ~ P, and
Q,=8-P,
he has constant average and marginal cost = 2

(/)  What is thF Oi tariff in this case ?
(i)  What is the obtimal linear‘two part tariff ?
(iii) What price‘ per uni't do the ‘two demanders pay
“when he charges this tariff ? | 6+9
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i (a)  Inaduopoly two firms can pursue either of two strategies,
Aggressive (A) and Passive (P). Their Pay-offs from

pursuing these are as given below :

2
A P
A 25,9 35, 10
1
P 30, 13 36, 12

()  What is the Nash equilibrium of this simultancous
game ? Explain.

(i) If the game is a sequential one with player | moving
first would a threat by player 2 to play A regardless
of what player | does be a credible threat ?

(i)  What would be the subgame perfect Nash
equilibrium of this sequential game ? Explain using
the extensive form.

(b) Briefly explain the «Battle of the Sexes” game. %6

P.T.0,
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&1 foversor wifsm
[n the Stackelberg model if the Inverse demand function

is given by P = a— Q and both firms have zero production

costs. What would be :

()  The equilibriim outputs of the leader (Firm 1) and

the follower (Firm 2).
(i) The price charged.
(i) Profits of both firms,

A market is served by two Cournot duopolists. The Inverse
demand function is P = 600 — 2Q. Both firms have constant
average and marginal cost equal to 180. Derive and graph
their best response functions. Find the Cournot equilibrium
quantities, the price charged and the profits 6f both ﬁfms

make. 169
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The question paper is divided into nwo sections.
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(@) Two consumers A and*B consume two goods X and

Y in an exchange economy and their preferences are

given by :
UA = XA + Y/\ and UI] = XB + YB

where X, Y,, X,, Y, are the consumption of X and

Y by consumers A and B respectively. Endowment is

given as :

W, + W =16 and

XB

YA Yn
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where W . W . W .. W__is the endowment of good

X and Y to consumer A and B.

()  What is the set of Pareto efficient allocations in

this 2 x 2 exchange economy ?

(i)  Show the Pareto efficient allocations in an

Edgeworth box diagram.

(i) 1f W, = 12 and W,, = 4, then find the general
equilibrium price ratio and allocation if consumer

A and B trade good X and Y competitively.
A ST A e B faftm s d§ 9
IS X AW Y B YA R § q@w I
MIfHehdd ;-
U, = X, + Y, Hm.un=x8+ Yi

S S T % 1 SR X, Y, X, Y, S99

A T4 B R HAY: X A1 Y I3 w1 SqEm
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(b)

Assume that there are three

919
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agents in an economy and

that social preferences are decided by pair-wise

majority voting. List of rankings for three alternatives,
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m. n and p is given in table below :

I’grson A Persqn B Person C
n n p
n p m
p m n

()  Set a voting agenda that result in allocation ‘n»’

winning,
(i) Also find an agenda that has *p’ winning.

(iif) Do you agree that pair-wise majority voting can
be manipulated by changing the order in which
votes are taken to yield the desired outcome ?

Explain. 0.5+9

A e fF uw srdegemen § W wie ¥
AN WSt daeh wgEa afen gw |wIeE
WAHHA. T 1 Wt & | A Ao m,

P.T.O.
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In a pure exchange economy with two goods (X an

, inal
Y) and the two consumers A and B who have ord

utility function given by :
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u =X, +Y, and
U, = X, Y,
and their endowments are given as (0, 50) and
(50, 0) respectively.
() Draw the Edgeworth box for this economy and
identify the .enAdowment point.

(i) Will competitive exchange between them lead to
an equilibrium (where both consumers consumes

positive amounts of both goods) that is :
(a)  Efficient
(b)  Equitable
(¢)  Fair
Give Explanations.
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It the utility possibility frontier is linear viz.
U, +2U; = 400
and sogial welfare is maximized at a corner point, namely

at U, = 200, which of these cannot be the social

welfare function ? Draw a diagram to explain your

answer.

) W=1U + 2U,
(@) W=U, + 2U,
(i) W =U, U
(v) W = U, + U, 8.5+10

A ST WA A e sy

U, + 2U, = 400

B T WmiieE weam w1 w fog ™
SfHhaT dar g, HAL U, =200 W, T F g
H H GRS weaa werd qd w@)
HHRA 7 SO W TR B h U TF g
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(a)

(i) W =1U, U

1%

) W=U,+2U,

(i) W= U,-\ + 2UB

vy W=1U, + U,.

The demand for energy efficient appliances is given

as- .

The market for energy efficient appliances is perfectly

competitive. The marginal (private) cost of production

~of energy efficient appliances is given as MC = Q.

By reducing demand on the electricify network, energy
efficient appliances generate an external marginal

benefit according to MEB = EQ, where E is some

constant.

()  What is the equilibrium amount of energy-effi-

. : , : 9
cient appliances traded in the private market '
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(1) 11 the socially optimum quantity of energy

efficient appliances is 20, find the value of ‘E’,

(7if) 1f the government subsidized production of
energy efficient appliances by Rs. S per unit,

what level of the subsidy would induce the

socially efficient level of production ?
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" There are two types of cars in the used car market,

“plums” i.e. good cars and “lemons” i e. bad cars with

hidden defects. Potential buyers are willing to pay

price of P, for “Plums” and P, for “lemons”. There are

potential sellers who are willing to sell plums At

V, <P and lemons at V, < P,. Potential sellers knoW

about the quality of car but the prospective buyers

N9y
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can’t observe the quality of the cars but they know

that the proportion of lemons in the market is p.

(i)

(if)

(i)

()

v)

What is the expression for the expected value

(P*) of the car to the typical buyer ?

Find the conditions under which only lemons will

be sold ?

Write the conditions under which all cars will

be sold ?

What should be the minimum value of P in

terms of V, V.. P, P, for all potential sellers to

sell their cars ?

Write the condition under which no car would

be sold ? 9+9.5
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There are two agents and each agent has utility
U(G, X) where X is private consumption and G is the

size of public good.

G=g * g

where g is agent /’s contribution on the public good.
The price of private consumption is P, and the price

of the public good is P.. Each agent has an income

M, and thus has an individual budget constraint

PX + Pg =M,

i

P.T.O.
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Let the utility functions of two agents be,
U, =300 In G+ X, and

U, =200 In G + X,

2

The incomes of the two agents M, and M, is given

as 1000 each. P_ is given as |

()  Write an equation that expresses the condition

for the provision of the Pareto efficient level of

the public good and find the value of G.

(i) Find the amount each person spends on private

good, if each person shares the cost of the public

good equally ?

(iify Do you think as increase in income of both
persons will increase the amount of public good

provided ? Give reason for your answer.
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What kind of adverse selection problems would you

expect health insurance companies to face ? 12465
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Section B

(Wug ‘A)

Each of a group of 10 hunters has two options, either

10 catch a Stag or Hare. If at least 5 or more hunters

pursue the Stag, they catch it (assume that there is

a single stag). Captured Stag is shared equally by those

who catch it. Those who go after Hare get the whole
Hare..

()  What will be Nash Equilibria of the strategic

game if each hunter prefers 1/10 of the Stag than

a Hare ?

(i) What will be Nash equilibria if each hunter prefers

1/7 of the Stag to a Hare, but prefers a Hare

to any fraction smaller than 1/7 of the Stag.

P.T.O.
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v (h) Firm A and B can compete on advertising and R&D
The table below represents the pay-offs measured in

profits (Rs. million) in a one-shot simultaneous move

game. Firm *A’s profits are shown first :

Firm B
Advertising R&D
Advertising 3,3 5, 4
Firm A

R&D 4, 5 2,2

() Find out all Pure strategy Nash equilibrium of
the above game matrix.

(i) Find the mixed strategy Nash equilibrium, if any.

(iif) Draw the best responsc function diagram and |

identify all Nash equilibria.

(iv) What is the expected pay-offs for each
firm ? 10+9
P.T.O.
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6 (u) A thug wants the contents of a safe and is threat-
ening the owner, the only person who knows the code,
to open the safe. 1 will kill you if you don’t open
the safe, and let you live if you do.” The table below
shows the value that each person places on the various

possible outcomes :

Thug (Player 2)

Thug Kills  Thug does

not kill

o
LI
KN

Player 1 Open the safe, L,

(Safe Owner) Do not Open the safe 2, | 4,3
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(i) Draw the game tree for this sequential game With

Safe Owner going first.
(if)  What is the sub-game perfect Nash equilibrium
of this sequential game ?

(i) s the thug’s threat credible ? Should the
information holder believe the threat and open

the safe ?
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v/ (b) Consider the game matrix below :

Player

(@

- (i)

(iii)

Player B
L R
U 140, 140 20, 160
A
D 90 + X, 90 — X | 50,50

For what values of X do both players have a

dominant strategy ?

What strategy is/are .the Nash equilibria in this

case ?

For what values of X do none of the player has

a dominant strategy ? 1049

ﬁwmﬁ@aﬁ@wwﬁwm;

faerst A

faenst B

U 140, 140 20, 160

D 90 + X, 90 — X| 50, 50
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Consider the following duopoly game of differentiated
products for two firms [ and 2. Firms have no pro-

duction costs. The demand curves of duoploists are

given as :
Ql =] =P, * P2/4 and
Q =1-P, +P/M

where Q and Q, are the quantities produced by the

duopolist 1 and 2 respectively, and P and P, are the

prices charged by the two duopolists.
P.T.O.
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()  Solve for the Sub-game perfect Nash equilibrium
(SPNE) of the sequential price choice game if

player 1 is the first mover. Compute the firm’s

output and profits.

(if) Represeht the equilibrium on a best response:

function diagram.

(iif) If undercutting is possible, which firm will

. gain ?
w1 T2 & AT s % Pt
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A monopolist faces two different demand Curves from two

kinds of consumers. The demand curves are given by :
P, =40 - Q, (for market 1)

P, = 20 — Q2 (for market 2)

p
-

P, and P, are the prices charged by the monopolist from the
two kinds of consumers. The monopolist has constant

average and marginal cost :
AC = MC = 10.
()  What is the optimum linear two part tariff ?

(i)  What is the linear two part tariff if the monopolist
could charge a different entry fee from each kind of

consumer ?

(jiii) Suppose now that the monopolist can charge different
prices from these two types of consumers and follows
a policy of third degree price discrimination, what would
be the price charged in each market. Calculate quantity

and profits in each market ? 19
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. a) i) MRS*xy=2 VY , MRS XY—2\/‘

MRS XY— MRS Xy— YA YB =8
g o %a. :
Ie - — Y% .
oGt}
Y. 8 * T*‘ : 'L\’b
/o R v ; |
e
G - S 4

ii) Diagram- Give full marks even if only
horizontal contract curve is. made.
iif) Px/Py = MRS*xy= MRSPxy = 2v/8
Ya=Yp=38 :
S0,Xa=12=1NZ ,Xp=4+ 112
b) i) First have a voting bétween p & m— p wins,
then winner of p & m with » — » wins.
ii) First have a voting between 7 & m— m wins,
* then winner of n& m with p — p wins
1ii) yes, as we can see that from the first two parts that how it can be mampulated

2. a) i) Dlagram

X5 '
LY X e .OB
N AN 4
1\\\ D N .
yA AN 3 N, N \l,y
. N
\ N ]
AN N
.\ N
O N AN hY
4 50
A
i) MRS®xy= Yp/Xp MRSAgy =1, Px/Py=1, Yp/Xg=1
YB=XB=25, XA YA 25 .



(@) MRS ywy= MRSPyy , it is Pareto efficient.
(b) No agent envies the other — therefore equitable.
©  Tairis Pareto efﬁcient.and equitable- hence fair
2. b) i) can not be SWF, Ux=400.
ii) can be the SWF as it coincide with utility possibility frontier.
iif) can not be SWF, (Up/ U = ¥4 at Max).

Q‘
a
0

S
iv) can not be SWF, (max at U= 400).
3.a)i) Private optimum occurs where P = MC, or 100/Q = Q. Thus Q =10.

i) If the socially efficient number of appliances is Q = 20, then P + MEB = MCat Q =20,

or 100/Q + EQ = Q. Given Q=20. Solving, we get,E=0.75 or 3/4.

iii) Level of the subsidy that would achieve social optimum level assuming S as the per

unit subsidywill be 100/Q = MC - S. Since the efficient amount of appliances is Q =20,

the proper subsidy would solve 100/20 =20 - S or S= 15 per unit.

b) i) EV=P"= (1-B) P, + B Pyor Pr- p (P1-Py)

ii) Only lemons will be sold when the expected value or P* (to the buyer) is less than the
@ value of plums for sellers i.e. Viand greater or equal to the value of lemons for buyers. i.e.

Vi >P" > P ,>V2(condition when only lemons will be sold).
iii) All cars will be sold when the P is equal or greater than the value of plums to sellers
i.e. V1. So when P> Viand V(condition when all cars will be sold)
iv) Value of B, When P'=V,
(1-PB) Py + B P,=V,
Pi- B (P1-P2)=V,

Vi-P1
so min value of 3 should be f§ w or give 1 mark for any other answer.
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v) No cars will be sold when the P'is less than the value of lemons to sellers i.e. V2. So

when P'< Vyor give 1 mark for any other answer.
Q. 4. Part (a) (i) First order condition— YMRSgx' = Po/Px
300/G +200/G =1 Or G =300+200 =500
(ii) Total cost of Public good is P, (500) |
Contribution of each person would be 500/2 =250
Amount left for private good would be 1000 - P, (250) =750
Also Accept if done like this — 300/G + 200/G =1/Px
500/G= 1/Px— G=500Px
Contribution of each person would be 500Px/ 2
Amount left for private good would bel000 - (250)Px
(iii) No as preferences are quasi-linear a unique level of public good is there.
b) “A similar problem arises with health insurance~insurance.companiescan’t base thgir
rates on the average incidence of health problems in thepopulation. They can only base their
rates on the average incidence ofhealth problems in the group of potential purchasers. But the "
people whowant to purchaSe health insurance the most are the ones who are likely to
need it the most and thus the rates must reflect this disparity.In such a situation it is possible
that everyone can be made better offby requiring the purchase of insurance that reflects the -
average risk in thepopulation. The high-risk people are better off because they can purchase
insurance at rétes that are lower than the actual risk they face and the lowriskpeople can
purchase insurance that is more favorable to them than theinsurance offered if only high-risk
people purchased it.A s1tuat10n like this, where the market equilibrium is dommated by a

compulsary purchase plan, is quite surprising to most economists. Weusually think that

“more choice is better,” so it is peculiar that restrlctmgcholce can result in a Pareto

improvement. But it should be emphasizedthat this paradoxical result is due to the externality
between the low-riskand high-risk people.In fact there are social institutions that help to
solve this market inefficiency.It is commonly the case that employers offer health plans to
their employees as part-of the package of fringe benefits. The insurance company

can base its rates on the averages over the set of employees and is assuredthat all employees
must participate in the program, thus eliminating theadverse selection. (Varian, | 723-

724.8%Med.)
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5. a)i) There are two Nash equilibria of the game are: (Stag,. . . , Stag) and (Hare,

QCQ’

Hare). Any player that deviates from the first profile obtains a hare rather th
fraction' 1/10 of the stag. Any pl

nothing, rather than a hare,

an the
ayer that dev.iates from the second profile obtaing

An action profile in which at least 1 and at

most (5-1) i.e 4 hunters pursue thestag is not 3
N -

ash equilibrium, since any one of them is better off catching ahare. An action profile in

Nash equilibrium, by the following argument.

* If some hunters, but fewer than 5, pursue the stag then each of themobtains nothing, and is
better off catching a hare,

* If at least Sand fewer than 7hunters pursue the st

ag then each one thatpursues a hare is
better off switching to the pursuit of the stag,

* If more than 7hunters pursue the stag then the fractio

n of the stagthat each of them obtaing

is less than 1/7, so each of them is better offcatching a hare.

5.b) i)Them are two Pure strategy equi. (Advertisin

g8, R&D)( R&D, Advertising)
i) Mixed Strategy

equi.—Let p be the probability that Firm A chooses Advertising, so l-p -

is the probability that Firm A chooses R&D.

* Let q be the probability that Firm B chooses advert

ising, 50 1-q is the probability that Firm
B chooses R&D. |

* To find mixed strategies, we compute the Expected pa
and (EPg) with probabilities (P, 1-p) and (q, 1-q).

* FimA: EP[(p, 1-p), (q, 1-)]=3pq + 5p(1-q) + 4 (1

yoffs of firm A and Firm B (EPy)

“P)q +2(1-p)(1-q)



= 3pq -+ 5p- 5pq -+ 4q - 4pq +2 - 2p - 2q + 2pq = - 4pq + Ip +2q +2
Equate EP5 at p =0 and EP, at p=1
2q+2=2q+5, g =3/4
o FimB: EPs [(q, 1), (p, 1-p)] = 3qp+ 5 q(1-p) +4(1-) p + 2(1-9) (I-P)
=3qpt+ 5q-5qpt4p-dqp+ 2-2p-2q+2qp = - 4pq + 2p +3q+2.
Equate EPgat =0 and EPgat q=1 |
2p+2 =-2p+5, p = %.So the mixed strategy equi.isp=3/4 and q=3/4.

i)

v T

pAL

iv) Putting values of p=3/4 and q=3/4 in the Expected payoff function to get:

. EP,=-dpq+3p+2q+2=T2=35 EPy=-4pq+2p+3q+2=12=33
6. ) i) and i) |
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‘ i i. on every proper
ii) A sub-game perfect Nash equi. is a strategy profile that 15 2 Nash equi ry p

sub-game. Identify 3 sub-games and show Nash equi. |
SPNE: Safe owner not open; thug not kill/open, not kill/not open with payoff (4,3)
If only Payoffs are written- give only 1 mark. |
If only descriptive explanation of SPNE- give only 1 mark.
Or accept any .e.mswer if explanation is given showing equi. path. _
iii) No, the thug’s threat is not credible, because if safe owner chooses nqt to open the safe
even then SPNE strategy of thug is to not kill, so it’s an empty threat.
6.b) i) B—=50>(90-X) = X>40 (1)
A—(90+X)>140-X>50 (2) -
So, X >50 |
ii)  Down, Right with payoffs (Sd, 50)
iii) 140>(90+X)— 50 >X (1)’
(90-X)> 50— X<40 (2)

So, X <40. } .
Note: If only X>50 in first part and X <40 in third part — deduct 1 mark.

If only X >50 in first part and X <40 in third part - give full marks.

Q.7.a) i) Let Q=1—P;+Py/4

Q2 =1-P2+P1/4 i

P,Q=1I, = P;- P/ + P,Py/4 , P,Q,=IT;= P- P,* + P, Py/4 8IL,/6P, =
1-2P, +P1/4=0 , .

BR,(P,) — P,=Pi/8 + 1/2

Put this in profit function of firm 1.

II, = Pj- P2 + Py/4 (1/2 + Pi/8)

SI1,/5P; = 9/8 - 2 P+ 1/16 P; =0

P, =18/31P, =71/124

P;=0.5806 - P,=0.5725

Q,=0.563 -Q2=0.575 I1,=0.326 . II,=0.327
(i) BR,(Py) — Po= P|/8 +1/2 - BRI(PZ) —P=P,/8+1/2



Best Response curves

P

(i) Firm 1will gain by 10W€1’ing its price or give 2 marks for any other answer.

7.b) In the Stackelberg game, the leader uses what has been called a “top dog” strategy,

aggressively overproducing to force the follower to scale back its production. The leader

cams more than in the associated simultaneous game (Cournot), while the follower earns
less. While it is generally true that the leader prefers the sequential

game to the simultaneous
game (the leader can do at least as well, and

generally better, by playing its Nash equilibrium
strategy from the simultaneous game), it is not generally true that the leader harms the

follower by behaving as a “top dog.” Sometimes the leader benefits by behaving as a “puppy

dog,” as illustrated in Example 15.9.(Top dog strategy — page 501, N&S.
Q. 8. (i) Optimal Tariff — IT=2a + (p - MC) (q; + qu)
If only formula of optimal tariff- give only 1 mark.
11=(0.5) (2) (40-2P)(20-P) + (P-10) (80-3P)
= (40-2P) (20-P) + (P-10) (80-3P)
= 800-40P-40P+2P* +80P -3P>- 800+30P
=-P+30P=0
dl/dp=-2P+30=0— P=15
enfry fee —a = (0.5)(40-2P)(20-P) = 25
Optimal Tariff =25 +15Q
(i) He would charge an entry = amount of consumer surplus in each market following the
Oipricing schedule P; =P, = MC= 10
Consumer surplus in market 1
(.5) (40-10)(30) =450
T(Q1) =450 +10Q,
(iii) Third 3" Degree P.D

Consumer surplus Mkt.2
(:5) (20-10)(20) = 100
T(Q2) = 100 +10Q,



MR;=40-2Q; =10 MR;=20-Q; = 10

P, =25 P;=15
Profits =225 Profits = 50
RNk kkk
Marking Scheme
Q. 1 3)i 3 Q1lb)i |3
i 3 . ii 3
u 3.5 ‘ jii 3
Q23a)i 125 - Q2b)i |25
i 2+2+2-if there is no explanation- give no ii 2.5
marks.
iii 2.5
@ - ‘ iv 2.5
Q3 a)i |3 - Q3b)i |25
li |3 pe l 2.5
lii il 3 - o 2.5 )
- v 1-> for any
- answer
- v 1-> for any
answer
Q4a)i 6 Q4b) 6.5
li 2
jii 4
Qs a)i 5 Q5b)i 1
[ 5 . [ 2 ::
lii 3
v 3
a6 3 o Q6b)i |3
- 2 — l 3
T 3 li 3
Q7 a)i 8 - 4 for SPNE, 2 for profits & 2 for output Q7b) |4
li B 5> 1 for BR, 3 for isoprofit& showing equi.
lii 2 = for any answer.
Qs8i 6 — .
l 6 :
it 7, 3+2+2 _
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